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TNPSC GROUP I MAIN – 2023 

TIME AND WORK TEST 
 

gphpT – m 
SECTION – A 

 
Fwpg;G:  

i. xt;nthU tpdhtpw;Fk; 150 nrhw;fSf;F kpfhky; tpilaspf;fTk;.  
Answer not exceeding 150 words each 

ii. xt;nthU tpdhtpw;Fk; gj;J kjpg;ngz;fs;. 
Each question carries ten marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;  
Answer any four questions out of five questions. 

(4 × 10 = 40) 
 

 

1. Answer the following Questions.  
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. A and B can finish a work in 20 days. A alone can do 
1

5
th of the work in 12 

days. In how many days can B alone can complete the whole work     (5m) 
A kw;Wk; B xU Ntiyia 20 ehl;fspy; Kbf;f KbAk;. A, 12 ehl;fspy; 
1

5
gFjp Ntiyiar; nra;a KbAk; vdpy; B kl;Lk; vj;jid ehl;fspy; 

mt;Ntiyia KOikahf nra;a KbAk;? 
 

B. A tap can fill a tank in 15 minutes. Another tap can empty it in 20 minutes. 
Initially the tank is empty. If both the taps start functioning, when will the 
tank become full?          (5m) 
xU Foha; fhypahf cs;s njhl;bia 15 epkplq;fspy; epug;Gk;. kw;nwhU 
Foha; ePh; epuk;gpAs;s mj;njhl;bia 20 epkplq;fspy; fhyp nra;Ak;. 
Muk;gj;jpy; njhl;b fhypahf ,Ue;J> ,U Foha;fSk; xNu Neuj;jpy; jpwe;J 
tplg;gl;lhy;> mj;njhl;b vt;tsT Neuj;jpy; epuk;Gk;? 

 

2. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. 5 boys or 3 girls can do a science project in 40 days. How long will it take 

for 15 boys and 6 girls to do the same project?     (5m) 
5  khzth;fs; my;yJ 3 khztpfs; xU mwptpay; jpl;lr; nraiy 40 
ehs;fspy; Kbg;gh;. 15 khzth;fs; kw;Wk; 6 khztpfs; mNj jpl;lr; nraiy 
Kbf;f vj;jid ehs;fshFk;. 
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B. A works twice as fast as B If B can complete a work in 12 days 
independently then the number of days in which A and B can together 
finish the work?          (5m) 
A vd;gth; B vd;gtiuf; fhl;bYk; Ntiy nra;tjpy; ,U klq;F 
Ntfkhdth;. B Mdth; xU Ntiyia 12 ehs;fspy; Kbg;ghh; vdpy;> 
,UtUk; ,ize;J me;j Ntiyia Kbf;f vj;jid ehs;fs; vLj;Jf; 
nfhs;th; vdf; fhz;f. 

 

3. A, B and C can separately do a work in 2, 6 and 3 days respectively. Working 
together, how much time would they require to do it? If the work earns them 

₹960, how should they divide the money?      (10 m) 
A, B kw;Wk; C jdpj;jdpahf xU Ntiyia KiwNa 2>6 kw;Wk; 3 ehl;fspy; 
nra;a KbAk;. xd;whf Ntiy nra;jhy;> mijr; nra;a mth;fSf;F vt;tsT 
Neuk; Njitg;gLk;? Ntiy nra;J &.960 rk;ghjpj;jhy;> gzj;ij vt;thW 
gphpj;Jf; nfhs;thh;fs;. 

 

4. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Twelve carpenters working 10 hours a day complete a furniture work in 18 

days. How long would it take for 15 carpenters working for 6 hours per day 
to complete the same piece of work?       (5m) 
12 jr;rh;fs; ehnshd;Wf;F 10 kzp Neuk; Ntiy nra;J rpy ku 
Ntiyfis 18 ehl;fspy; nra;J Kbf;fpd;wdh;. ,Nj Ntiyia 15 
jr;rh;fs; ehnshd;Wf;F 6 kzp Neuk; Ntiy nra;jhy; vj;jid ehl;fspy; 
nra;J Kbg;gh;? 

 

B. A alone can do a piece of work in 35 days. If B is 40% more efficient than A, 
then B will finish the work in how many days?     (5m) 
A vd;gth; jdpNa xU Ntiyia 35 ehs;fspy; Kbg;ghh;. B Mdth;> A I 
tpl 40 % $Ljy; jpwd; tha;e;jth; vdpy;> B Mdth; me;j Ntiyia  
vj;jid ehs;fspy; Kbg;ghh;. 

 

5. Answer the following Questions.       (5m + 5m) 
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. A can do a piece of work in 40 days. He works at it for 8 days and then B 

finishes the remaining work in 16 days. How long will they take to 
complete the work if they do it together?       
A xU Ntiyia 40 ehl;fspy; nra;J Kbf;f KbAk;. mth; mjpy; 8 
ehl;fs; Ntiy nra;fpwhh;. gpd;dh; B kPjKs;s Ntiyia 16 ehl;fspy; 
Kbf;fpwhh;. mth;fs; xd;whfr; nra;jhy; Ntiyia Kbf;f vt;tsT fhyk; 
MFk;? 

B. A, B, and C together earn Rs 1350 in 9 days. A and C together earn Rs 470 in 
5 days. B and C together earn 760 in 10 days. Find the daily earning of C.  
A> B kw;Wk; C Mfpa %tUk; Nrh;e;J 9 ehl;fspy; &.1370-I rk;ghjpf;f 
KbAk;. A kw;Wk; C ,UtUk; Nrh;e;J 5 ehl;fspy; &.470-I rk;ghjpf;f 
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KbAk;. B kw;Wk; C ,UtUk; Nrh;e;J 10 ehl;fspy; &.760-I rk;ghjpf;f 
KbAk;. C -d; jpdrhp Cjpak; vt;tsT vd;W fz;Lgpbf;fTk;? 

 

gphpT – M 
SECTION – B 

 
Fwpg;G : 

i. xt;nthU tpdhtpw;Fk; 250 nrhw;fSf;F kpfhky; tpilaspf;fTk;. 
Answer not exceeding 250 words each. 

ii. xt;nthU tpdhtpw;Fk; gjpide;J kjpg;ngz;fs; 
Each question carries fifteen marks. 

iii. nfhLf;fg;gl;Ls;s Ie;J tpdhf;fspy; vitNaDk; ehd;F tpdhf;fSf;F 
kl;Lk; tpilaspf;fTk;. 
Answer any four questions out of five questions. 

 

(4 × 15 = 60) 
 

6. Answer the following Questions. 
gpd;tUk; tpdhf;fSf;F tpilasp. 
A. A can complete a work in 10 days, B in 12 days and C in 15 days. All of 

them began the work together, but A had to leave the work after 2 days of   
the start and B, 3 days before the completion of the work. How long did the 
work last?           (9 m) 

    A, B, C MfpNahh; xU Ntiyia KiwNa 10, 12, 15 ehl;fspy; Kbg;gh;.  
  %tUk; Nrh;e;J mt;Ntiyia njhlq;fpdh;> A vd;gth; mt;Ntiy  
  njhlq;fpa ,U ehl;fSf;F gpd;Dk;> B vd;gth; mt;Ntiy Kbtjw;F  
  %d;W ehl;fs; Kd;Gk; ntspNawpdh; vdpy; me;j Ntiy Kba MFk;  
  ehl;fs;? 

 

B. Two taps can fill a cistern in 10 hours and 8 hours respectively. A third tap  
can empty it in 15 hours. How long will it take to fill the empty cistern, if  
all of them are opened together?       (6 m) 
xU njhl;bia ,U Foha;fs; jdpj;jdpNa KiwNa 10 kzp Neuk;;> 8 kzp 
Neuq;fspy; epug;Gfpd;wd. kw;nwhU Foha; ePH; epuk;gpa njhl;bia 15 kzp 
Neuj;jpy;  fhyp nra;Ak;. njhl;b fhypahf ,Ue;J ,k;%d;W Foha;fSk; 
xNu rkaj;jpy; jpwe;J tplg;gl;lhy; mj;njhl;b vt;tsT Neuj;jpy;  epuk;Gk;? 

 
7. Answer the following Questions. 

gpd;tUk; tpdhf;fSf;F tpilasp. 
A. Three men A, B and C can complete a job in 8, 12 and 16 days respectively. 

A and B work together for 3 days; then B leaves and C joins. In how many  
days, can A and C finish the work?       (7 m) 
A,B,C vd;w %th; xU Ntiyia KiwNa 8>12>16 ehl;fspy; Kbg;ghh;fs;. 
A,B ,UtUk; Nrh;e;J mt;Ntiyia 3 ehl;fSf;F nra;jdh;. gpd;dh; B  
tpyFfpd;whh;. C NrUfpd;whh; vdpy;> A, C Mfpa ,UtUk; Nrh;e;J 
mt;Ntiyia vj;jid ehl;fspy; Kbg;ghh;fs;?  
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B. 2 men and 3 women can do a work in 10 days. 3 men and 2 women can do 
the same work in 8 days, In how many days 2 men and 1 woman can do  
the same work?          (8 m) 
2 Mz;fSk; 3 ngz;fSk; xU Ntiyia 10 ehl;fspy; nra;a ,aYk;. 3 
Mz;fSk; 2 ngz;fSk; mNj Ntiyia 8 ehl;fspy; nra;a ,aYk; 2  
Mz;fSk; 1 ngz;Zk; mNj Ntiyia vj;jid ehl;fspy; nra;a  
,aYk;? 

 

8. Rakesh can do a piece of work in 10 days, Ashok in 15 days; they work 
together for 5 days.  The rest of the work is finished by Vipin in 2 days.  If they 
get Rs.1200 for the whole work, how should they divide the money and what 
are their daily wages.          (15m) 
xU Fwpg;gpl;l Ntiyia uhNf~; 10 ehl;fspYk;> mNrhf; 15 ehl;fspYk; nra;J 
Kbg;ghh;fs;. mth;fs; ,UtUk; Nrh;e;J 5 ehl;fs; Ntiy nra;fpwhh;fs;.  
kPjpAs;s Ntiyia 2 ehl;fspy; tpgpd; nra;J Kbf;fpwhh;.  me;j nkhj;j 
Ntiyf;Fk; mth;fs; U.1200I Cjpakhfg; ngWfpd;wdh; vdpy;> me;jg; gzj;ij 
mth;fs; vt;thW gphpj;Jf; nfhs;s Ntz;bapUf;Fk;?  mth;fspd; jpdrhp 
Cjpak; vt;tsT? 

 

9. Answer the following Questions.        (7.5m) 
gpd;tUk; tpdhf;fSf;F tpilasp. 

A. A and B can do a piece of work in 12 days, B and C in 15 days, C and A in  
 20 days. In how many days will they finish it together and separately? 

A, B ,UtUk; xU Ntiyia 12 ehl;fspy; nra;J Kbg;gh;. B>C mNj 
Ntiyia 15 ehl;fspy; nra;J Kbg;gh;. C,A mNj Ntiyia 20 ehl;fspy; 
nra;J Kbg;gh;. %tUk; Nrh;e;J kw;Wk; jdpj;jdpahfTk; mt;Ntiyia 
vj;jid ehl;fspy; nra;J Kbg;gh;? 
 

B. A and B can do a piece of work in 6 days and 9 days respectively, they work 
on alternative days starting with A on the first day. In how many  
days will the work be completed?       (7.5m) 

A kw;Wk; B MfpNahh; xU Ntiyia KiwNa 6 ehs;fs; kw;Wk; 9 ehs;fspy; 
nra;th;. Kjy; ehs; A iaf; nfhz;L Ntiyiaj; njhlq;fp mLj;jLj;j 
ehs;fspy; ,UtUk; Ntiyia nra;fpd;wdh; vdpy;> NtiyahdJ vj;jid 
ehs;fspy; KbAk;? 

 

10. 4 Indians and 4 Chinese can do a piece of work in 3 days. While 2 Indians and 
5 Chinese can finish it in 4 days. How long would it take for 1 Indian to do it? 
How long would it take for 1 Chinese to do it?     (15m) 
4 ,e;jpah;fs; kw;Wk; 4 rPdh;fs; Nrh;e;J 3 ehs;fspy; xU Ntiyia 
Kbf;fpwhh;fs; 2 ,e;jpah;fs; kw;Wk; 5 rPdh;fs; Nrh;e;J mNj Ntiyia 4 
ehs;fspy; Kbf;fpwhh;fs; vdpy;> ,g;gzpiaj; jdpahf xU ,e;jpah; vj;jid 
ehs;fspy; nra;thh;? xU rPdh; jdpahf vj;jid ehs;fspy; nra;thh;?  

 


